20194  EfExtiRE

20204 3 H

31H  HIfE

R EFNEEE B LB TRLO Ry T —2

G g CEA7 1)

I EEDH
1 RENVE PE
(B - THe)
EIJE TE/\
(£ OFENE PE)
N
mEEESGE (A)

2 [EEEE
(D) BEEE E
(2) e ] 7E & pE
(3) & Z D& pE
EHEEEART (B)
EREAEE (C) = (A) + (B)
I AEDE
1 REhALE

I IEBRRAPE DR
AT E R PE (EARE)  (G)

4 HIE R PE S 0 (i) R
() = (1) — (G)

ERRHAPE (1) =

AR ORI PE A 5T
(K) = (F) + (1)

(C) — (F)

3,658, 238

1,715

(@)

309, 922
3,000
28, 315

3,659, 953

341, 237

3, 659, 953

5,312,319

—1, 993, 603

341, 237

3,318, 716

3,659, 953




